Gertie Guinea Pig had 10 carrots.
She ate 3. Count back to find how many she has left.

Gertie Guinea Pig had 8 carrots.
She ate 2. Count back to find how many she has left.




Gertie Guinea Pig had 6 carrots.
She ate 4. Count back to find how many she has left.

Gertie Guinea Pig had 5 carrots.
She ate 3. Count back to find how many she has left.




Gertie Guinea Pig had 9 carrots.
She ate 2. Count back to find how many she has left.

Gertie Guinea Pig had 4 carrots.
She ate 4. Count back to find how many she has left.




Gertie Guinea Pig had 3 carrots.
She ate 2. Count back to find how many she has left.

Gertie Guinea Pig had 10 carrots.
She ate 2. Count back to find how many she has left.




